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PAPER-6 (Aptitude Test for MBA/MCA)

English Language
Numerial Aptitude
Thinking & Decision Making

General Awareness

Q.1t0Q.25
Q.26t0 Q. 50

Q.51t0 Q.75
Q. 76 to Q. 100

Paper 6 (English Language)

Pick the word that ‘is closest in meaning to
‘Abound’:

(A) Flourish
(C) Secure

(B) Aggravate
(D) None of the above

Pick the word that is closest in meaning to
‘Calamity’:

(A) Fortune (B) Adversity

(C) Compassionate (D) Sullied

Antonym of ‘Novice’:
(A) Tyro
(C) Veteran

(B) Beginner
(D) Baneful

Antonym of ‘Sacred’:
(A) Profane
(C) Scheme

(B) Immigrant
(D) Concise

005.

006.

007.

Pick the word that is closest in meaning of
the idiom “Beat around the bush”:

(A) Avoiding the main topic
(B) A good idea or plan
(C) All the advantages

(D) Something is very expensive

Pick the word that is closest in meaning of
the phrase “Cut it out!”

(A) Come to understand a problem
(B) Stop doing something bad

(C) Very close

(D) Not very often

Which of the following words can be used to
refer to study the nature of Gods:

(A) Theology (B) Anthropology
(C) Speleology (D) Philosophy
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009.

010.

011.

012.

013.

014.

015.

cat loves comfort.

(A) An (B) A

(C) The (D) Zero article.
Sugar ...... is bad for your teeth.

(A) the (B) an

(C) a (D) Zero article
The driver jumped ...... the car.

(A) in (B) off

(C) over (D) upon

I have not slept ...... yesterday.

(A) since (B) after

(C) before (D) over

God made the country ....... man made the
town.

(A) that (B) where

(C) and (D) or

She must weep, ...... she will die.

(A) or (B) an

(C) and (D) that

Which of the following is the correct ‘direct’
equivalent of the sentence?

Ram ordered Arjun to go away.
(A) Ram exclaimed, “Alas! Arjun to go
away.”

(B) Ram said to Arjun, “Go away”.
(C) Ram told, “Arjun go away”.
(D) Ram said, “Arjun to go away”.

Which of'the following is the correct ‘indirect’
equivalent of the sentence?
“Call the first witness”, said the judge.

(A) The judge commanded them to call the
first witness.

(B) The judge told me that call the first
witness.

(C) Call the witness the judge said.
(D) The judge said us to call the first witness

016.

017.

Which of the following is the correct ‘active’
equivalent of the sentence?

My pocket has been picked.

(A) Someone picked my pocket.

(B) My pocket was picked by someone.
(C) My pocket was picked

(D) Someone has picked my pocket.

Which of the following is the correct ‘passive’
equivalent of the sentence?

It is time to shut up the shop.

(A) It is time for the shop to be shut up.

(B) It is time to shop to shut up.

(C) It is time for shop being shut up.

(D) It has been time for the shop to shut up.

For Questions 18 to 21, refer to the
following passage:

Despite their similarities, the pyramids of
Egypt and Mesoamerica seem to be unrelated
because of distinct differences in the time
of construction as well as their design and
function. Historians have discovered that
the construction of the pyramids in Egypt
and Mesoamerica are separated by over
2,000 years. The Egyptians used only cut
stone quarried many miles away from the
pyramid sites—a construction method that
enabled them to construct sturdy buildings
that could withstand the test of time.

On the other hand, the pyramids of
Mesoamerica were not built to withstand the
ravages of time. Rather, the step pyramids
rose in tiers, on the top of which a small
temple was erected. Unlike the Egyptians,
they used irregular stones. Also, they did not
share the same basic design function. While
the Egyptian pyramids were private tombs
meant to separate the pharaoh’s remains from
the mainstream of society and protect him
for eternity, the pyramids of Mesoamerica
were primarily public temples of ritual and
celebration.
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018.

019.

020.

The main idea of this passage is best summed

up in which statement?

(A) Pyramids in Egypt and Mesoamerica are

similar.

(B) Egyptians assisted Mesoamerican

pyramid builders.

(C) Pyramids in Egypt and Mesoamerica

have distinct differences.

(D) Scientists do not know who built the

pyramids.

This passage best supports the statement that

(A) the Egyptians used stone quarried many

miles away from the pyramid site

(B) the pyramids of Mesoamerica were built

to last for eternity.

(C) the Egyptian pyramids were public

tombs.

(D) the and Mesoamerican

pyramids were built during the same

Egyptian

time period.

The passage best supports the statement that

(A) Egyptian and Mesoamerican pyramids

shared the same design function.

(B) both pyramids were used as temples of

ritual and celebration.

(C) Egyptian and Mesoamerican pyramids

shared the same construction methods.

(D) Mesoamerican pyramids were used for

ritual and celebration.

021.

022.

023.

024.

025.

The used word “eternity” in the passage most

nearly means which of the following?
(A) for a short time (B) temporary

(C) for all time (D) never

Choose the correct sentence from the
following :

(A) He described about the scenery.
(B) He described the scenery.
(C) He described for the scenery.

(D) He descried in the scenery

Choose the correct sentence from the
following :

(A) He requested for my help.
(B) He requested my help.
(C) He requested to my help.

(D) He requested about my help.

Choose the correct sentence from the
following :

(A) The news is too to be true.
(B) The news to so good to be true.
(C) The news too much good to true.

(D) Thenewsisvery good that cannotbe true.

Choose the correct one:

(A) IfI were you, I should agree
(B) IfIwas you, I should agree
(C) Both of the above

(D) None of the above
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Paper 6 (Numerical Aptitude)

026. What is angle ‘x’ in the schematic diagram | 026, = fed & M@ & HI %’ H A9 F=1
given below? 27
(o)
130 130°
130° 5
1 X £ 130
/\30 y?’oo
(A) 60° (B) 50° (A) 60° (B) 50°
(C) 40° (D) 30° (C) 40° (D) 30°
027. 1If i = y—1, then the value of 027. I i= -1, @9
592 4 590 4 588 586 , 584
592 | 5590 4 -588 | 586 4 -584 {A S i A i N i S
7:582+7j580+7:578+7:576 +z~574 —1is 7:582+7:580 +i578+i576 +Z~574 L =1
e o At o At o A o 4 I 2
(A) -1 B) -2 A) -1 (B) =2
(C) -3 (D) -4 <€ 3 D) 4
028. Ifco3=1,then«/—1—/—1—,/—1 ,,,,,,,,, 0 028. ﬂﬁm3=l,ﬁﬁ/—1—/—1—%—1 ......... 0
is equal to T 2
(A) 1 B) -1 (A) 1 B) -1
©) o D) -o ©) o D) -o
029. If sinA, cosA and tanA are in geometric | 029. Ife sinA, cosA d9T tanA !!Uilﬂ( guft 4
progression then Cos3A + Cos?A is equal to g, @ Cos’A + Cos’A T 7:
A) 1 B) 2 A) 1 B) 2
©) 4 (D) None of these (C) 4 (D) ¥ ¥ Hig &
030. If secO + tan® = P, then tanO is equal to: | 030. Ife secO + tan® = P, dd tanO s %:
2P P*—1 9P p?_{
@ pop B gp W pop B g
P2+1 2P P2+1 2P
6-AA | [5] [ P.T.O.



031. If sides of a traingle are 3, 5 and 7 cm, | 031, =fz foeft e it y&@d 3, 5 A 7 em
then the greatest angle in the triangle is g a9 ﬁrﬂq ® I TSl R @
(A) 105° B) 120° (A) 105° (B) 120°
(C) 135° (D) 150° (C) 135° (D) 150°
032. The general solution of the equation tan® | (32, THT tanO + tan 20 + /3 tan Otan 20= /3
+ tan 20 + /3tan Otan 20 = /3 will be 1 AYH gA BT
nr n oy l\m niw n o, l\m
(A) 3 (B) (2+3)3 (A) 3~ (B) (2"'3)3
1\«
© (n+3)% ® ¢ © (n+3)% ® ¢
033.  The 13' term of the sequence 12, 14, 17, 13, | 033. 2vft 12, 14, 17, 13,8, 14, oo 13
T S is 12 @
(A) 14 B) 13 (A) 14 (B) 13
© 15 D) 0 (C) 15 D) 0
034. A six sided regular polygon is inscribed in a | 034. 10 ¥Ht B at g9 ¥ wH 6 WSl
circle of radius 10cm, then the length of one drell HHEEYS S 7, a9 qHEgYS ED
side of the polygon is Th AT I AR B
(A) 20cm (B) 15cm (A) 20cm (B) 15cm
(C) 10cm (D) Scm (C) 10cm (D) 5cm
035. How many numbers are there between 100 | 035, 100 3R 1000 & = fradl T Tl
and 1000 in which all the digits are distinct 2 e aft o1& st -oram @
(A) 500 (B) 540 (A) 500 (B) 540
(C) 648 (D) 700 (C) 648 (D) 700
6-AA | [6] [ Contd...



036. In adjoining figure, AB||CD, ‘t’ is the | 036. = & T 34-@&[ 4, AB|CD, ‘' Th
transversal line, EG and FG are the % @1 & EG 3 FG %u3: /BEF
bisectors of Z/BEF and ZDFE respectively, qAT /DFE & g% Hiv &, d9 = ¥
then which of the following is true: S g @

t t
A £ B A E B
G G

. . F

C D C D
(A) FG? + GE? < FE? (A) FG? + GE? < FE2
(B) FG2 + GE2 = FE2 (B) FGZ + GEZ — FE2
(C) FG? + GE? > FE? (C) FG? + GE? > FE2
(D) None of these (D) T & +E &

. . : 0 ]

037. Which of the following statement is false? 037. = § #9 @ #u omd
A) AAB,C, = AA,B,C d
() AABCy = AAB,C an (A) AAB,C, = AA,B,C, 3R

AA,B,C, = AA;B,C, = AA,B,C
27272 373%3 1=1+1 ~
~ AA;B;C
373%3 ~
= AA;B;C4
(B) AAB,C, = AA,B,C, and AA,B,C, = (B) AAB,C, = AA,B,C, 3 AA,B,C,
(C) Triangle inscribed in a semicircle (C) tddga ® &1 By, ekt st e
whose larger side is diameter of the 31%117:5-1 T AE B, THRI |§|‘§a g
semicircle is right angled triangle. 2
(D) Sum of all interior angle of the triangle (D) Bﬂja % ®R 31d: HIUN I AT 180°
is 180° gl 2|
6-AA | [7] [ P.T.O.



038.

The circumferences of two circles are 264

038. <1 gai I uifr 264 . R 352 .
meters and 352 meters. The difference 3 W s B g?ﬁ ¥ dawdi ¥ S
between the areas of the larger and smaller H I B
circles is
(A) 4192m? B)  4304m> (A) 4192m? (B) 4304m?
(C) 4312m> (D) 4360m? (C) 4312m%> (D) 4360m?

039. Two students appeared at an examination. | 039, @ ®F Uk gdenm d giafad Em 30
One of them secured 09 marks more than g Uh 4 3@} e T 09 3T 3=
the other and his marks was 56% of the g fopy 3R 3T 3% 39 I+
sum of their marks. The marks obtained I R 56% ATl Ik gl gd foRd ™
by them are: Ih B
(A) 39, 30 (B) 49, 32 (A) 39, 30 (B) 49, 32
(©) 33, 42 (D) 43, 34 (C) 33, 42 (D) 43, 34

040. ‘A’ can do a work in 15 days and ‘B’ in 20 | 040, A frefi wef 1 15 feqi § 3t B 20
days. If they work on it together for 4 days, fdl 4 @ # wha 3l ARG F® AR
then the function of work left is: il % ® W T WA FW A F

dl fha ®RE s WM
® ® 19 A ® g
© 15 ® 5 © 1= ®

041. The population of a city was 3000. It was | 041. Ueh 8T <hl <9 F&1 3000 offl gem a9
increased by 4% in the first year and then E'Fl'ﬁ H 4% a@?‘l’ﬁ E}é GEIIRETY @ L
decreased by 3% in next year. What was 3% hI wHt 3g off| @ 99l &% I H
the total population at the end of two years? A SHEE fehadt oft?

(A) 3208 (B) 3228 (A) 3208 (B) 3228
() 2028 (D) 3026 (C) 2028 (D) 3026
6-AA | [8] [ Contd...



Direction (Q.42 - Q.44) :

Study the given table and answer the question based
on it.

e (Q42 - Q.44) :

7 Aol 1 stemE SR 3Uh MUR W @
™ ywEl % IR E-

Expenditures of a company (in Cr. rupees) per annum ferd ! Eﬁtqtﬁ w1 yided fenm mn s (FUs
over the given years wEH)
Expenditures °JY <l Hg
Year Fuel and Interest EL] 34 U /I W
Salary Transport Bonus | - | Taxes ELE) Eloe] ETN
1998 | 288 98 3.00 | 234 83 1998 | 288 98 3.00 | 234 83
1999 | 342 112 252 | 325 108 1999 | 342 112 2.52 | 325 108

2000 | 324 101 3.84 | 41.6 74 2000 | 324 101 3.84 | 41.6 74

2001 | 336 133 3.68 | 364 88 2001 | 336 133 3.68 | 364 88

2002 | 420 142 396 | 494 98 2002 | 420 142 396 | 494 98

042. What is the average amount of interest per | 042. Ufqay el < g TRT =0 8 S T o
year which the company had to pay during ag 1998-2002 i 3@ & A EeUGIC] sl
the period 1998-2002? ot ?

(A) 32.43 (B) 33.72 (A) 3243 (B) 33.72
(C) 34.18 (D) 36.66 (C) 34.18 (D) 36.66

043. Total amount of bonus paid by the company | 043. a9 1998-2002 I 37afe o GRF HH gRI
during the given period (1998-2002) is f@ m ame f A o wmm s
approximately what percent of the total Jafa & geH e ™ 9 Hi N T
amount of salary paid during this period. 1 feham ufaera 27
(A) 0.1% (B) 0.5% (A) 0.1% (B) 0.5%

(©) 1.0% (D) 1.25% (C) 1.0% (D) 1.25%

044. Total expenditure on all the items in 1998 | 044. a9 1998 o &t ﬂ?ﬁ W Pd =9, EL
was approximately what percent of the total 2002 | A I hl AIHT fopaen e
expenditure in 2002? qr e
(A) 62% (B) 66% (A) 62% (B) 66%

(C) 69% (D) 71% (C) 69% (D) 71%
6-AA | [9] [ P.T.O.




Direction (Q.45 - Q.47) :

Based on pie chart given below, answer the following

questions.

Details of expenditure in percentage

Highways 7%

Public
Welfare 14%

Other 45%

Education 34%

e Q45 - Q4 -

o o ™ uEER % YR W Hefaied Al

& IW <

g &1 fqeor ufqea #

f3re11 34%

045. If the total spending is Rs. 50,000 Cr., how | 045. 3¢ F @ ¥.50,000 IS & A TSIHTI
much money was spent on highways? W fpa @ fem m?
(A) Rs.3,500Cr.  (B) Rs.22,500Cr. (A) ¥.3,500 FUE (B) ¥.22,500 IS
(C) Rs.15,000Cr. (D) Rs.20,000 Cr. (C) ®.15,000 TS (D) ¥.20,000 HIS
046. Approximately, how many times the amount | 046. TEET W @9 8 drefl TR 1 o
spent on highways is spent on education? fepam R e w w4 fham Smar 270
(A) 10 B) 3 (A) 10 B) 3
) 5 (D) 15 (C) 5 (D) 15
047. Approximately, what fraction of the total | 047. TSImTT 3R &l Hedlul W A g
expenditure is spent, on highways and &1 T fehan faw “élﬂﬂ'_d WA T
public welfare combined? fean S R
2 1 2 1
A) & B) 7 A) & B) 7
1 2 1 2
© 5 O 3 © 5 O 3
6-AA | [10] [ Contd...



Direction (Q.48 - Q.50) : ﬁé-gr (Q.48 - Q.50) :

Based on Bar graph given below, answer the = & ™ 9rue % R W F=faRed gwEi

following questions: FT ITW o

ghekBali gre;lph gl\(/ien bell:)w S?OWS t‘he bsaleshof = fm T aRATE, 9§ 2000 3R 2001 F

ooks (in thousand number) from six branches . .
. (bl.h. d), ) p A T ThRH HEH hl B: WREST H gEdehi
of a publishing company during two consecutive .
years 2000 and 2001. w1 foht (W H) Wi @

120 120

" N 110 " 110

~ 100 - 9 95 9 ~ 100 = % % %

8 9% - ™ 3 % 85

% 8010 - ™ - 80 E 80l - o - 80

E 70 e 70 g 70 e 70

2 60 8 60

2 50 2 50

£ 40 £ 40

B 30 8 30

@ 2 3

10 10
0 0
Bl B2 B3 B4 BS B6 Bl B2 B3 B4 BS B6
Branches [ 2000 /] 2001 Branches [ 2000 [/ 2001

048. What is the ratio of total sales of branch | 048. @Ml adl & o, W@ B2 =l Foi forshl
B2 for both years to total sales of branch 3 wrEl B4 W ot foshl w1 e
B4 for both years? CRIN X
(A) 2:3 (B) 3:5 (A) 2:3 (B) 3:5
(C) 4:5 (D) 7:9 (©) 4:5 (D) 7:9

049. Total sales of branch B6, for both years, | 049. GHI =di < fofd =@ B6 i Pt feshl
is what percent of the total sales of branch W B3 H FA fosht 1 fRa widerd
B3 for both the years? 87
(A) 68.54% B) 71.11% (A) 68.54% B) 71.11%

(C) 73.17% (D) 75.55% (C) 73.17% (D) 75.55%

050. What percent of the average sales of | 050. @ 2000 ¥ B, B3 3R B6 wm@nsii <
branches B1, B2 and B3 in 2001, is the s feshl, a9 2001 # Bl, B2 3R B3
average sales of branches Bl, B3 and B6 ymaErst H oeEa fosht @1 fRam wfawa
in 20007 87
(A) 75% B) 77.5% (A) 75% B) 77.5%

(C) 82.5% (D) 87.5% (C) 82.5% (D) 87.5%
6-AA | [ 11] [ P.T.O.




Paper 6 (Thinking and Decision Making)

051. Look at this series 2, 5, 10, 50, 500, 5000, | 051. & #vfi = 2@ 2, 5, 10, 50, 500, 5000,
one term in this series is wrong. Find out the T 9ol § Uk UC TAd 2| 39 TAd Ue Rl
wrong term: AR
(A) 2 (B) 5 (A) 2 (B) 5

- (C) 500 (D) 5000 (C) 500 (D) 5000
£
“IE3 052, Look at this series AB, BA, ABC, CBA, | 052. =& 3uft % 3@ AB, BA, ABC, CBA, ABCD,
ABCD, ...... which word should come next? o M HT WeE AT BN
(A) ACBD (B) BACD (A) ACBD (B) BACD
(C) CABD (D) DCBA (C) CABD (D) DCBA

053. In certain code, SIKKIM is written as | 053. %o @ig #, SIKKIM &% THLJIL % &9 ¥
THLJJL. How is TRAINING written in that forar <A 21 3@ ®ig # TRAINING &
code? forar Smar 27
(A) SQBHOHOH (B) UQBHOHOF (A) SQBHOHOH (B) UQBHOHOF
(C) UQBJOHOH (D) UQBJOHHO (C) UQBJOHOH (D) UQBJOHHO

054. If pen is table, table is fan, fan is chair, and | 054, =fe Hem ¥9 B, A9 U@ B, U@l FHH
chair is roof, on which the following will a 7, 3 il Ba 3, Fmufafea & @ fea
person sit? W Th Ak 96 Hehdl 27
(A) Fan (B) Chair (A) W@l (B) i
(C) Roof (D) Table (C) =d (D) S

055.  Deepak said to Nitin, “That boy playing with | 055, <gss 4 fafgq @ hgl, “dg ghl Eil
the football is the younger of two brothers of Feaid Woadl 7, W fua f ueht H
the daughter of my father’s wife. How is the 9 % O 9EA 0§ B 8l dush ok
boy playing football related to Deepak? Fedid o Il Agehl T 1 HeYy 37
(A) Son (B) Brother (A) o (B) T§

(C) Brother-in-law (D) Cousin (C) dre (D) ==EU WE
6-AA | [12] [ Contd...



056. Raju is brother of Ravi, Rekha is sister of | g56, e U &1 Wi B, W@ e I o
Atul. Ravi is son of Rekha. How is Raju 2 W W@ w1 §9a ®) T w1 @ 3§
related to Rekha? T GEY 27
(A) Son (B) Brother (A) I (B) 8
(C) Daughter (D) Sister (C) gsﬁ (D) &

Directions for Q.57 to Q.59: Read the information Q.57 T Q.59 % foau fesn-fdw: = & 0

given below and answer the questions that follow: IEHN UG I IH o TH k IW o

A+ B means A is the daughter of B;A-BmeansAis | A+ B o 319 8 A, B Fl ol 8; A - B o Ade®

the husband of B; A x B means A is the brother of B. | A B &1 ufg 8; Ax B &1 319 8 A, B & WS 2|

057. IfP+Q—R, which of the following is true? | 057. 3fe P+ Q- R, F=fcifga & & <7 @1 @& 87
(A) R s the sister-in-law of P (A) R, P &l Trefl @

(B) R is the mother of P (B) R, P&l @ 2
(C) Ris the aunt of P (C) R, P&l == 2
(D) R is the mother-in-law of P (D) R, P&l @@ 7

058. IfPx Q-+ R, which of the following is true: 058. 3Ife Px Q+R, Fim=fifega o @ =F @1 =&l 37

(A) P is the brother of R (A) P, R &1 9§ ?
(B) Pis the uncle of R (B) P, R =1 == 3
(C) Pis the son of R (C) LR T 3

(D) P is the father of R (D) P, R &1 fuar 2

059. IfP+Q xR, which of the following is true? | 059. =fe P+ Q x R, F=fcifEa § & <9 @1 @&l 87
(A) P is the daughter-in-law of R (A) P, R i1 g3@9 7
(B) Pis the cousin of R (B) P, R &1 =0 9§ @

(C) P is the daughter of R (C) P, R &I & 2
(D) P is the niece of R (D) P, R &1 waisil H
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060. Mathematics is related to numbers in the | ¢g0, Iforg =1 ST Ty d&aT 9 8 99 3 sfag™
same way as History is related to H G B
(A) Dates (B) Wars (A) Tt & (B) ﬂ@ T
(C) Events (D) People © " & (D) @m @
CAED 061,  Sea is related to Cyclones in the same way as | (¢1. gg H S gy HEdAE § g 99§
Sky is related to JMRIST T grerY &:
(A) Wind (B) Airplane (A) &1 (B) FEIFS S
(C) Blue (D) Cloud (C) e (D) e
062. What is associated with Picasso, as Films is | 062, 59 yopr ¥cusild 1@ fhew @ grafed 3
associated with Satyajit Ray? W B U &1 gy feag 27
(A) Painting (B) Poetry (A) dfem (B)  hiodl
(C) Literature (D) Drama (C) aifgca (D) M
063. If PRICE is coded as SVNIL, COST will be | 063. af¢ PRICE & SVNIL % &4 § #ifeq form
T 8, O COST =l T3 & ®9 ¥ whifed foman
coded as:
STa:
(A) FSXY (B) FSWY
(A) FSXY (B) FSWY
(C) FTWZ (D) FSXZ
(C) FTWZ (D) FSXZ
064. If MADRAS is coded as 56, how can | 064. If@ MADRAS =l 56 & &9 U whifed foram
T 8, 9 CALCUTTA ol o <hifed fekam T
CALCUTTA be coded?
AT 87
(A) 8 (B) 38 (A) 8 (B) 38
(©) 81 (D) 76 (C) 81 (D) 76
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065. In certain code language ‘SauPeyTe’ means | 065. U ehig WNT H ‘SauPeyTe’ &1 31 2
‘Doctor Vinod Kumar’, ‘Ting Pu Sau’ NCIC 70 %Fﬁa PHIC, ‘Ting Pu Sau’ <kl 19 %
means ‘Satish is Doctor’, ‘Ping Pong Ting’ HAIT IR 7, ‘Ping Pong Ting’ 1 1<
means ‘Satish and Ram’. Which word in that TAW AR TW| IW VW % RO g
language means ‘is’? H A s’ BY
(A) Sau (B) Pey (A) Sau (B) Pey
(C) Pu (D) Ting (C) Pu (D) Ting

066. If rectangle is called a circle, a circle is | 066. ¥fg 3T 1 Th I Hg A &, dl Th
a point, a point is a triangle, a triangle is a g9 wh fag 2, T fog s G g,
square, then wheel is a: T B wh e g, TR uw ufn @
(A) Rectangle (B) Circle (A) ad B) 9
(C) Point (D) Square (C) foig (D) o

067. Rest: Busy :: Coarse : ? 067. IMH : T : & :7
(A) Variant (B) Wild (A) TN (B) SiTeft
(C) Adulterated (D) Fine (C) Femedt (D) 3

068. Cunning : Fox :: Timid : ? 068. =TT : TG :: S ;7
(A) Elephant (B) Rabbit (A) zeft (B) @i
(C) Leopard (D) Ass (C) dgam (D) T

069. Choose the group of letters which is different | 069. 38 g THR ® B A GE AT
from others: 2
(A) BCD (B) KMN (A) BCD (B) KMN
(C) QRS (D) GHI (€©) QRS (D) GHI

070. Choose the number which is different from | 070. 38 HEI HI B A A ¥ AT 2:
?;ger;l (B) 552 (A) 381 (B) 552
(C) 729 (D) 903 (C) 729 (D) 903

6-AA | [15] [ P.T.O.



Directions for Q.71 to Q.75: Read the following

information and answer the questions based on it:

In a school there were five teachers. A and B were
teaching Hindi and English. C and B were teaching
English and Geography. D and A were teaching
Mathematics and Hindi. E and B were teaching

History and French.

071. Who among the teachers was teaching

maximum number of subjects?

(A) A (B) B
©) C (D) E
072.  Which of the following pairs was teaching
both Geography and Hindi?
(A) Aand B (B) Band C
(C) Dand A (D) None of these

073. More than two teachers were teaching which

.71 § .75 T o fou ficm: Fefaftea g
Ye qAT I W IMYURE UM & IW o

T foemem d Ui e A1 A td B e o
ST TG ¥ C ud B IS MW i ugn
d| D g AT R f&d we 9 E w B
sfag@ 3 %9 g 9|

071. foerenl § @ o wo@ @ fosg gern

o7 ?
(A) A (B) B
(C) C (D) E

072. fr=fafEa # @ @9 @1 Sier e @ &

AT YT AT?
(A) AT@ B (B) BUW C
(C)DW A (D) ¥H & i3 &

073. @ ¥ suQ e w9 § o g 97

subject?
(A) Geography (B) History &) ®)
(C) Hindi (D) French ©) f&& (D) %A
074. D, B, A were teaching which of the following | 074. D, B A f=fafEgd § @ =4 @1 fowy
subject? yerd 97
(A) English only (A) hae ISH
(B) Hindi only (B) %had &t
(C) Hindi and English ) &t o smh
(D) English and Geography (D) IS 3R “fﬁﬂ
075. Who among the teachers was teaching less | 075, f¥ierpi @ @ & @ fowg 4@ %A gg@n
than two subjects: T ?
(A) A (B) B (A) A (B) B
(©) D (D) None of these (C) D (D) ¥4 & %5 &l
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Paper 6 (General Awareness)

076. Which presidential order is related to the | 076. <= wHEHR § A= 370 w1 FEHw
abrogation of article 370 in Jammu and W dfgaE § Owed % ozm fe
Kashmir by an amendment in the Indian .
constitution? S T S § e
(A) 1954 (B) 1949 (A) 1954 (B) 1949
(C) 1978 (D) 2019 (C) 1978 (D) 2019

077. Who has been conferred with the Dada Sahib | 077. TIGHES Wiesh THM - 9N &1 God
Falke Award 2019 — Indian highest film honor el fhen e S f6 uwam e @
for the contribution in Indian cinema? ?ﬁTE'FT * %I'Q fepgren] e ERINRIRI] %I
(A) Dilip Kumar (A) feef HHI
(B) Amitabh Bachhan (B) Ay s=aq
(C) Shashi Kapur (C) wfer
(D) Anupam Kher (D) ™ @

078.  Which is the first Indian firm to hit Rs. 10 | 078. M # WRd™ ®H 4 10 @@ HUS
lakh crore market capitalizations in 2019? TNR W Qe 2019 # fRem @

(A) Tata Consultancy Services (A) TRT HEH T
(B) Oil and Natural Gas Commission (B) dd T 9@1%[55 g T
(C) Coal India Limited (C) 9N e M
(D) Reliance Industries Limited (D) femE ST TEAH

079. Which of the following Port recently | 079. ¥ ¥ TrE vgumg 4 3191 150 IS
celebrated its 150th anniversary and attended T g e aRdE gaees 3 ot 9
by the Prime Minister of India? form e
(A) Chennai Port Trust (A) S [LUIF
(B) Kolkata Port (B) hIcTehTdl SCUTE
(C) Bombay Port Trust ©) TS SEUTE
(D) Cochin Port Trust (D) HIEH SEETE
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080. Who among the following was the Chairman | 080. S:Fﬁ 9 fre ard fod o FVIRCI U
of the Committee on Deepening Digital fefSrea Y gufa w1 sy ﬁ'{lﬁlﬁ
Payments appointed by the RBI? fepm m?

(A) Nandan Nilekeni (A) decd EIGET]

(B) HR Khan (B) TE. JAX @WH

(C) NR Narayan Murthy (C) T4, AN A9 1{%
(D) Anand Mahindra (D) Mg HAfgg

081. The Nobel Prize 2019 for Economics has | 081. 3Tf¥sid EHGﬁ, TEYY Al 3R HIghed
been awarded to Abhijit Banerjee, Esther HE H 2019 HI AEA EHR AR
Duflo and Michael Kremer for i frg o & fau fean mn?

(A) Fight against poverty (A) TS + fgams @eE o

(B) Consumption pattern among rural mass (B) TTHior @M W ST T Yed d@d o

(C) Decision making under asymmetric (C) TEmfd AT A7 fo s °
information (D) IH FRpl A AOR  faeaqur

(D) Role of non-economic factors in trade R

082. What was India’s rank among 156 countries | 082. ¥IXd <kl gt 156 <= H afvass wHerarn
in the Global Happiness Index 2019? W 2019 § @& AT?
(A) 140 (B) 132 (A) 140 (B) 132
(C) 137 (D) 134 (C) 137 (D) 134

083. Which constitutional amendments provide | 083. f&&® Gaares dIes W 10 gfdwra TRe
10% reservation to economically weaker U= i o AT ET ¥ HAIR a1 ol
section for general category candidates? fem w2
(A) 123 (B) 124 (A) 123 (B) 124
(©) 122 (D) 121 (©) 122 (D) 121
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084. Which of the following cricketer has been | 084, form fopere fgadl 1 1CC s feadiw
named ICC ODI Cricketer of the Year 2019? fsheketr 2019 =i feram T 2)

(A) Virat kohli (A) foe wigett
(B) KL Rahul (B) E | TEA
(C) Rohit Sharma (C) Ufgq v
(D) Suresh Raina (D) & W[

085. What is SWAYAM, an online learning | 85, #Mea GEYA HAGH gN I T T
platform initiated by the ministry of Human Ty 1 ewT SWAYAM @ 2
Resource Development? )

(A) W& 99 % ufged AR srmepieft
(A) Study Webs of Active Learning for Young
a1 Afeqss & forg
Aspiring Minds
(B) W&l deAR % Uldqa T Far
(B) Study Webinar for Active Learning for )
. : aepelt T % fag
Young Aspiring Minds
‘ , ‘ , (C) &l I HRRA & dha HEd 7q
(C) Study Whileworking for Active Learning
for Yong Aspiration Minds I Al 7 & fo
(D) Study Worldwide web of Active Learning (D) ¥ fr 9w afer g kS
for Youth of Aspiration Minds amepieft T % U

086. As per the policy of partial privatization of | 086. R t@d grn ertves fasfieRtor fifa
operations of Indian Railways, premium et o aq g, T el s
express train Tejas between New Delhi and

)
Lucknow is being run by? F M BT @RS
(A) RITES (A) ¥R 35 & 3w
(B) ITDC (B) g & &
(C) IRCTC (C) 38 m # & =@
(D) IRCON (D) st
6-AA | [19] [ P.T.O.



087. Who won the Tyler Prize 2020 for the work | 087. 2020 T I JLEHR N fop gHtewor &
on bringing the economic consequences of qqq ¥ Tt g@ﬁtﬂﬂ'ﬁﬁ 3R i 30
wtenion ofcopote and polical decigion, | TS AR 0 & o
makers? T e Sfia 2
(A) Pawan Sukhdev (A) ToH Feed
(B) Sunita Narayan (B) g‘ﬁ?ﬂ RINER
(C) Anil Agarwal (C) I smEm
(D) Vandana Shiva (D) a1 feman

088. What is India’s rank in global competitive | 088. WRd 1 difveaes gfqawft W o o
index 2019? TIHE 27
(A) 58 (B) 72 (A) 58 (B) 72
(C) 68 (D) 71 (C) 68 (D) 71

089. In the context of digital technologies for | 089. HNSH %@ fefSea aedler & @ed o fi=9
entertainment, consider the following I w1 AR W
statements :

1. InAugmented Reality (AR), a simulated 1 ST e H ﬁ?‘ﬂﬁ%‘e’ AR
environment is created and the physical SHET W@ R Wifds R tﬂ& e
world is completely shut out. q &l B

2. InVirtual Reality (VR),images generated 2. %Rﬁ?ﬂ?f o= H, IR g TR
from a computer are projected onto real- ™ i o aEE sTeE W SN
life objects or surroundings. = 2

3. ARallowsindividuals to be present in the ) ) )
world and improves the experience using 3. AR B AR H W G R
the camera of smartphone or PC. Sk SERE P TAE B A Wé;

4. VR closes the world, and transposes R ¥ e gl
an individual, providing complete 4. VR §ERX &l &¢ TGl & 3 Il
immersion experience Tﬁ AT 1 ST HUAT 2

zgilrigilt?of the statements given above is/ are = B A wuT T 27

(A) 1and2only (B) 3and4 (A) land2 (B) 3 and 4

(C) 1,2,and 3 (D) 4 only (C) 1,2,and 3 (D) haet 4
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090. In August 2019, the Government of India | ¢g90. 37 2019 T ¥WRd TSR =5 100% Il
has allowed 100% FDI (Foreign Direct st Paw whE on T G fed
Investment) through automatic route in which '
sector? & A Zﬂaﬂﬁf a
I. Coal mining and associated L el TeH S Heanfl A §eT

infrastructure I Tfe B
II. Contract manufacturing

1. fefsea wifean

ITI. Digital media
IV. Defense production IV. T& Scred
Correct option is - wal frwed @
(A) TandITonly  (B) T and IV only (A) Tand IThad  (B) Il and IV et
(C) TandIlT only (D) I and IV only (C) Iand NETN (D) I'and IV had

091. Kayakalp aims to promote sanitation and | 091. <HRThed h1 Iegd TEO=Bdl Td THE hl
hygiene in which of the following institutions EECIC] %‘g’ foro Oxgm A R®?
(A) Public healthcare (A) S Y
(B) Primary schools (B) Trerfieh hod
(C) All educational institutions (C) |t Tarequr TS o
(D) Railway stations (D) W ©WIA

092. Who has been has appointed as the first | 092. ¥Rd TR g0 JI@ &I &1 W e
Chief of Defense Staff (CDS) by the Central ﬁ_ﬂﬁ'\ﬁ fpa fem w2 W P umd
Government heading the Indian Armed T = 5‘[\@?:” am sk Taife
Forces and the senior-most uniformed afess W b el e v
military adviser to the Government of India
(A) General Bipin Rawat (A) SR T
(B) General B S Dhanoa (B) SRl S Rl
(C) Karambir Singh (©) i firg
(D) Rakesh Kumar Singh Bhadauria (D) Tk FAR T waifan
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093.  Who is the recipient of Jnanpith award 20197 | 093. wrRdfT IS J&ERR 2019 H gd HH
(A) Shankar Kurup e HH A7
(B) Amitava Ghosh (A) T g

| . (B) ffaman =y
(C) Krishna Sobti (©) Fwm N
(D) Akkitham Achuthan Namboothiri (D) shia sregee Fregh

094.  Statue of Unity is related to which Indian | ¢94, wear =t qfd frm IRl ToMar @ aefera
statesman? 37
(A) Mahatma Gandhi (A) TETeHT et
(B) Rajendra Prasad (B) TN 991G
(C) Sardar Patel (C) TER U
(D) Jawaharlal Nehru (D) JaTE AT g%

095. Under the new citizenship amendment | gos5. =3 dsifRrd FrTieRaT FFE 2019 H 3T
act 2019, residents of which countries are e 2o & farfa = ardim amiesdan
allowed to get citizenship in India? $ ;qa-qﬁ e reuil
(A) Myanmar, Bangladesh, Afghanistan (A) TIUR, AT o, SAHEH
(B) Bangladesh, Pakistan and Sri Lanka (B) SIS, UIfehEd™ 3T sfieieht
(C) Afghanistan, Bangladesh and Pakistan (C) IAHMTEAH, &er e 3T urfehta™
(D) Sri Lanka, Afghanistan and Pakistan (D) ficishl, ABMEAH 3R drferEd™

096. As per the Economic survey of India 2019, | 09¢. 2019 shl URAT ATh TI& & YR G
what is the projected growth rate of economy? rfraer 6 \5-|jJ-|||(.\-|q foreprE 2T T @Y
(A) 5 t05.5% (A) 58 5.5%

(B) 6 t06.5% (B) 6 | 6.5%
(C) 51t06% (C) 59 6%
(D) 6.5 to7 % (D) 653 7%
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097. Which country has deployed the first | 097. foel oo 3 ugelt gRw@Efw fooEa a9
hypersonic missiles, which can fly 27 times &1 7 S fe oy & 27 NCI a7 ¥ 3T
the speed of sound? ghdl =87
(A) America (B) France (A) TR (B) oK)

(C) Germany (D) Russia (C) < (D) =4

098. Who wrote the autobiography titled | 098. ‘feiec® i @ srcmesren forma forel
‘Relentless’? 37
(A) Man Mohan Singh (A) TR Tag
(B) Pranab Mukherjee (B) WUrd H@S
(C) Yashvant Sinha (C) gvrad foa=ar
(D) LK Advani (D) TA. & ATSaTUl

099. Which ofthe following is the newly suggested | 099. 398 & HH-#t Tff efiufeam der «fim
telematics motor insurance by the Insurance Ao s e e fasm g
Regulatory and Development Authority of (IRDAI) 2T ﬁsﬂé ™ 27
India (IRDAI)?

(A) T3 Fra wfert
(A) Named driver policy
(B) Owners insurance policy (B) ¥ <t rferl
(C) Named rider insurance (C) Hg TSt <
(D) Named operator insurance (D) 99 3T m

100.  Which Indian boxer won the silver medal in | 100. Tt 9N gachearar 4 fova  gacharstt
world boxing championship 2019? yfafiar 2019 ¥ ©@d 9eh Sidr @7
(A) Vijender Singh (A) dore faw
(B) Yogeshwar Dutt (B) RLE
(C) Arif Lamba (C) IR e
(D) Amit Panghal (D) AfHa e
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